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Sl. No.1
QBID:1555001

Choose the correct sentence.

ARV e &1 SUga Seew & |
1) &

(2) ©

3) &

(4) ©

1[Option ID=16401]
2[Option ID=16402]

3[Option ID=16403]
4[Option ID=16404]

(1) It is strange that you don't know swimming.
(2) It is strange that you don't know how to swimming.
(3) It is strange that you don't know how to swim.

(4) It is strange that you don't know to swimming.

Sl. No.2
QBID:1555002

Choose the correctly spelt word.
(1) Decrepit

(2) Decripit

(3) Dacrepit

(4) Decripet

fomfafEa & & qor o &1 Sem § |
(1) Y™

(2) TEwE

(3) =

(4) HIgP

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.3
QBID:1555003

Match List I with List IT :

LIST I (Word) LIST II (Antonym)
A Stranger I disrespect
B. obeisance IL. despise
C. acknowledge IIT.  |friend
D. admire IV.  |deny

(1) A-IIL B-IV. C-I. D-III
(2) A-IL B-I. C-II. D-IV
(3) A-IL B-1. C-IV. D-II
(4) A-L B-III. C-IV, D-I

Choose the correct answer from the options given below:




FEl-1 & 1Y FEI-11 T e B -

Gl T 1
A g L |Tor e
B. |amam o (go
c. |fEmm m (S
D. [¥cd v. |[gfe gy
i fou U fased d 4 T8l 3R &1 9494 HilolU :

(1) A-I B-L, CIII. D-IV
(2) A-IV. B-1II, C-I, D-II
(3) A-III. B-1. C-II. D-IV
(4) A-L B-II, C-III, D-IV
1[Option ID=16473]
2[Option ID=16474]

3[Option ID=16475]
4[Option ID=16476]

Sl. No.4
QBID:1555004

Given below are two statements :

Statement I : One who hates books is a bibliophile.

Statement IT : One who is attracted to foreign things is a xenophile.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Statement I is false but Statement IT is true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Both Statement I and Statement IT are true

F < FuA feu T E : U S UFUF (Assertion A) F T # 4@ § G gEU S9H RO (Reason R) F I F;
HUFYE A THE, T5ae AR Yol se au = F ged s # |

FRU R : T3 UF HAEF AR GEY (BRI fEEwo 7§ f ag1 5 SEw e |

TRl HYUA & 3Tl 1, A 19U Y fasedl # § wes Suged &1 90 S

(1) AIRREAITTE IR, A F 9el sorem &

(2) A SRR 3HT 9@ g dfET R, A &1 91 e 961 &

(3) ATUE AFAR oM@

(4) A AT RTTE

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.5
QBID:1555005

Select the patr which has the same relationship as the pair below :

grief : consolation

(1) milk : chocolate

(2) conductor : bus

(3) disease : medicine

(4) soup : water

wEret B v Wi € Awftags 2 2
(1) fErTeR

(2) mrTsh

(3) =9

(4) TERMH

1[Option ID=16481]
2[Option ID=16482]
3[Option ID=16483]
4[Option ID=16484]

Sl. No.6




QBID:1555006
Tdentify the correct direct narration for the following sentence.

Suresh asked Prasad whether he had watched the cricket match on television the previous night.
(1) Suresh asked Prasad. "Have you watched the cricket match on television previous last night 7"
(2) Suresh said to Prasad, "Did you watch the cricket match on television last night 2"

(3) Suresh said to Prasad, "Had you watch the cricket match on television night ?"

(4) Suresh asked Prasad. "Did you watch the cricket match on television tomorrow night ?"

T Vg FE-FE 2

(1) et

(2) &5

(3) A

(4) 3wl

1[Option ID=16485]
2[Option ID=16486]
3[Option ID=16487]
4[Option ID=16488]

Sl. No.7
QBID:1555007

Which of the following words is a one-word substitute for 'the study and description of the physical features of an area” ?
(1) Theography

(2) Topography

(3) Geography

(4) Tractography

o ek 0 B & U U 2es &1 90 i |

1) g

(2) i

(3) st

(4) waffees frg

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.8
QBID:1555008

Find out which part of the sentence has an error, if there is no error. mark option 4.
(1) If land pollution keeps on happening

(2) soil to have grown our crops on

(3) at this rate, we won't have fertile

(4) No Emror

& TE T T &1 ol R -

(1) FRAEHA

(2) 0= 9

(3) amyd g

(4) W= B

1[Option ID=16493]
2[Option ID=16494]
3[Option ID=16495]
4[Option ID=16496]

Sl. No.9
QBID:1555009




Choose the correct order of the paragraph to create a meaning out of PQRS set :
Etymologies are fun,

P : what a word means in the present,

Q : but they do not always clarify

R : and in fact, sometimes etymologies

S : work against such a clarification
(1) PQSR

(2) QPRS

(3) SPQR

(4) RSQP

Pt s T gEa g ?
(1) WBITAE |

(2) GHTATE |

(3) TFHITEIE |

(4) FATEE |
1[Option ID=16497]
2[Option ID=16498]

3[Option ID=16499]
4[Option ID=16500]

SlI. No.10
QBID:15550010

Identify suitable preposition from the options given below to complete the sentence.

Friend was one many dedicated scientists who tried to see how brain were built.
(1) to
(2) on
(3) of
(4) m

fir 1 wREEf 2
A TFTE
B. 3/
C. 31
D. e

e fom o faeet # 9 T8 SR &1 95 S ;
(1) Fam A

(2) #9a B

(3) F9@ B 3R C gt

(4) F@E D

1[Option ID=16405]

2[Option ID=16406]

3[Option ID=16407]
4[Option ID=16408]

Sl. No.11
QBID:15550011

In the Eights Schedule of the Constitution of India, which languages were added subsequently ?
(1) Marathi, Tamil. Konkani, Nepali

(2) English. Sindhi, Marathi, Sanskyit

(3) Sanskrit, Sindhi, Konkani, Manipuri

(4)




Sindhi, Konkani, Manipuri, Nepali
HRA & HiguH $ 3nsd! aE! § B4 Hiaref $1 a8 # §ien i 2
(1) =31, affa, i, Jreh
(2) =it R, midl, dwwa
(3) Hegd, =, il Aftgd
(4) &0, Siwull, Aftrgd, Jureh
1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.12
QBID:15550012

With reference to Chausath Yogini Temple situated near Morena, consider the following statements :

A. Tt is a circular temple built during the reign of Kachchhapaghata Dynasty.

B. It is the only circular temple built in India.

C. It was meant to promote the Vaishnava cult m the region.

D. Its design has given rise to a popular belief that is was the mspiration behind the Indian Parliament building.

Choose the correct answer from the option given below :
(1) A and B only

(2) B and C only

(3) A and D only

(4) B. C and D only

AT & Y fRyd 9res gifHT dieR o dey § Hafaiad sl 1R [daR $ifve -
A. TE T50YC IS & AP & GRA Ffifq Meamar 4fex € |

B. U8 YRd I (fifd te nF MiveR dfex § |

C. ZUFHT A&Y &7 § aWId U1 Ugfd S Jae o7 |

D. 9G] T FEad U [a47TH 38 § o YRd 998 & Yo &1 IR I8 o7 |

il fou U fasedl d § T8l 3R &1 9494 BIlolU -
(1) Had A AR B

(2) FEAB IR C

(3) FHad A fRD

(4) HAAB, C ARD

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.13
QBID:15550013




Match List T with List IT :

LISTI LISTII
A Election of President I Article 61
B. Impeachment of President II.  |Article 352

Pardoning Power of the I

C. Prcsdasi Article 53
President's Power to

D. unpose National IV. |Article 72
Emergency

Choose the correct answer from the option given below :
(1) A-L B-IL C-III. D-IV
(2) A-L B-III, C-IV, D-II
(3) A-IV, B-III, C-II. D-I
(4) A-IIL B-I, C-IV, D-II

Yail-1 & 91y YAI-11 BT fore HIfor -

e 1 i 1
A [Ipfa @ ke L |erg=sg 61
B [pufd W HeHan I |36 352
C. [Tpuld &1 &HeH Si¥GR| 1L [efgwde 55

D. %@ﬁa'ﬁi%mﬁmﬁ V. |og=e 72
il fau U fased d 4 Tel SR &1 9494 Hilol :

(1) A-L B-II, C-III, D-IV
(2) A-I B-III, C-IV, D-II
(3) A-IV. B-III, C-II. D-I
(4) A-IIL B-1, C-IV, D-II
1[Option ID=16417]
2[Option ID=16418]

3[Option ID=16419]
4[Option ID=16420]

Sl. No.14
QBID:15550014

Given below are two statements :

Statement I : India shares its longest boundary with Pakistan.

Statement II : Pakistan shares border with 5 Indian States and Union Territories.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct

R ARt mE:

FYF [ ; YT Wihea $ T 301 Te9 del SA e Sl & |

FUA 11 : TieedE 5 HRdD =6t o 99 wnfid &=t & w1y S o Sxar & |
SR FYF & A H, 9 GE Y Teedl § ¥ 999 Sugad &1 997 S

(1) YT RIS 98
(2) A1 3R 11 <41 o §
(3) BHEI e AT s I T &
(4) S Ta g AfET S I 98T 8

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.15
QBID:15550015




Who won the Aster Guardians Nursing Award by Aster DM Healthcare, which aims at recognizing the phenomenal contribution by
nurses to humanity ?

(1) Anna Qabale Duba

(2) Dida Jirma Bulle
(3) Francis Michael Fernando
(4) Jasmine Mohammed Sharaf

TR SIH. SRR G el W1 anel UReR Tieiag AR sarss ey v e, e St Aadr & 9 6l & Sigd IRTEE B 1l Ve ST 6 7
(1) =1 FTET gEl

(2) dfe1 o g

(3) wifed AEHa HAlS!

(4) Sfe AigFe TS

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.16
QBID:15550016

If Paediatricians(P), Surgeons(S) and Doctors(D) are each represented by a circle, which figure represents their relationship best?
D

1)

o (0

(3)

(4)

o d
W)
v w
w

-3 s (P) Te-fafewe (S) 9 Afews (D) # 8 & 0 & 16 94 9 el i@ m | FefifEd 8 9 996 9= &1 eH-9 3 die 9
frefid Sear & -

1)

d
w/

o (((0Ds

3)




(4) g

1[Option ID=16429]
2[Option ID=16430]
3[Option ID=16431]
4[Option ID=16432]

Sl. No.17
QBID:15550017

The logical meaning of,

'Only women can travel in the first coach of Metro' is -

(1) All women can travel m the first coach of metro.

(2) Women can travel in all coaches of metro

(3) All coaches of metro are coaches in which women can travel
(4) All those who can travel in the first coach of metro are women.

HeET % UEd {5 # aw Aigen § O % 9edl & ' — 59 99h @ o gg o Fe .
1) ST s Ed T AT s Ted & |

(2) AR A & an fEedl & o = awdl & |

(3) #E & 9N fes 3 foad € fomd ufteny o s 9l € |

(4) TSl T us Tood # g o o o |t aF afeen

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.18
QBID:15550018

"If party A forms the government, then Mr. Z will be the Chief Minister” will be false. when -
(1) A forms the government and Z becomes the CM

(2) A forms the government and Z does not become the CM

(3) A does not form the government and Z becomes the CM

(4) A does not form the government and Z does not become the CM
"o T A ER §911 &, T 49H Z e a9 | T8 $YF 39d 5RO -
(1) 0 A WER S48 3R Z Jedid a7 ¢ |

(2) SO A WEHN S 7 IR Z gegedt 781 a0 |

(3) O A WEN Fel S9101 & 3R Z TorE a0 7 |

(4) 3O A WHR TG &0 ¢ AR Z g 76 a6

1[Option ID=16437]
2[Option ID=16438]
3[Option ID=16439]
4[Option ID=16440]

Sl. No.19
QBID:15550019

Choose the odd combination -
(1) Ideas - Books

(2) Grains - Grannary

(3) Water - Reservoir




(4) Photos - Album

FofofEa 3 3 599 v=g =1 997 i -
(1) =R - g&a

(2) 3 - Y/ EBR

(3) W - WemEE

(4) Bl - Taas

1[Option ID=16441]

2[Option ID=16442]

3[Option ID=16443]
4[Option ID=16444]

Sl. No.20
QBID:15550020

India and Bangladesh. both have not qualified for the semifinal. implies that :

(1) India has qualified but Bangladesh has not qualified

(2) Bangladesh has qualified but India has not qualified

(3) Neither India nor Bangladesh have qualified.

(4) Either India or Bangladesh have qualified but not both

U SR SHETSE 2 SHiRETa § e #1 3@l del WK S U 1" 59 HuUT 1 99y & fR
(1) WRT 7 IEal o B A Serem F gd T8l e @

(2) S = Sar W Bl AT HRd 7 Sgar T8 e B |

(3) 7T YRT SR 7 & STey F A A g ¢ |

(4) T &l WA T SAIGH BT A W g5 & IR &l Bl el T8 S g |

1[Option ID=16449]
2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.21
QBID:15550021

Find the ratio in which the point (=3, p) divides the line segment joining the points (=5, 4) and (-2, 3). Also, find the value of p.
(1) 2:1.p=2/3

(2 1:2.p=312

3 1:1.p=1

(4) 2:3.p=2/3

farg (-3, p) Tim wrT o fRgeit (-5, 4) IR (2. 3) I eH Ru sgma d fauRa s g I siRp FT AR T 8 7
(1) 2:1.p=2/3

2 1:2,p=312

3 1:1.p=1

(4) 2:3.p=213

1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

SlI. No.22
QBID:15550022

If then which of the following is true?

a=5+4f5+5+———
(1) a=35
(2) a=5
3) 2<a<3
(4) a=3anda<2

ofg GIEIEE: B ke
o

(1) a>5

(2) a=35

(3) 2<a<3

(4) a>3anda<2




1[Option ID=16457]
2[Option ID=16458]
3[Option ID=16459]
4[Option ID=16460]

Sl. No.23
QBID:15550023

Of the four numbers whose average is 50, first is one-third of the sum of the last three numbers. The first number is:-
(1) 80

(2) 70

(3) 60

(4) 50

IR demait &1 agura 50 & fud uechl gem wfm &= demelt F dn =1 e faerd & | ved dmmam € 2
(1) 80

(2) 70

(3) 60

() 50

1[Option ID=16461]

2[Option ID=16462]

3[Option ID=16463]
4[Option ID=16464]

Sl. No.24
QBID:15550024

| o

If the fractions % are arranged in descending order then which will be at the fourth place?

L k2
| —l
| Ln

-~ -~ -~ -~
H w N =
Nt Nt Nt N
J_i e R L
[
e
(=]

&

9 P oGiE BA H o O - i 99 = W e ?

10

(WS
oo |
o Lh

|

o un B b | Ly =
Sle

(4)

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.25
QBID:15550025
9 men working 8 hours a day complete a piece of work in 20 days.

In how many days can 8 men working for 10 hours a day complete the same piece of work ?

(1) 202 days
(2) 20— days

(3) 22— days

O e O R b o
e 2]

(4) 22— days

0 31eHl 8 e WAl P P [l 1 &l 20 RAH G © | 91 P BI 8 Sf1&H 10 9 Ui o= fava R H g

1)




203 A
9
) 20% e
> e
5

(]

3) 2

(=)

4 2

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.26
QBID:844171

Who ever does anything with the intention of causing wrongful gain to one person or wrongful loss to another person is said to do that
thing ?

(1) Fraudulently

(2) Dishonestly

(3) Deceitfully

(4) Wrongfully

B 5 ST B I S| ¢ [ UF Afed B Ga A F1E X 41 30 AfE #1 94 51 SN FY, 59 $ S S Sl ol § |
(1) TEES

(2) Sgaed ¥

(3) TE

(4) o Tiis |

1[Option ID=17201]
2[Option ID=17202]
3[Option ID=17203]
4[Option ID=17204]

Sl. No.27
QBID:844172

The essential ingredients for establishing the offence of rioting as per Sec. 146 of the Indian Penal Code are:

A. Unlawful Assembly
B. Force

C. Comunon Object

D. Common Intention
E. Criminal Conspiracy

Choose the cotrect answer from the options given below:

(1) A B, Conly

(2) A.D.E only

(3) A.B.,D only

(4) A and B only

YA &5 wfedl 1 4RI 146 S J9R &1 & 3Ry $1 I $3 $ 7Y 46w aa ¢ |

A. TR BT

B.sd

C. 999 35
D. 99 R
E. SR g

4= fou o Tecgt # ¥ 98 O 51 954 SO
(1) $TUA,.B. C
(2) 9@ A, D.E
(3) $TWA. B.D
(4) a9 A and B

1[Option ID=17245]
2[Option ID=17246]




3[Option ID=17247]
4[Option ID=17248]

Sl. No.28
QBID:844173

Culpable Homicide does not amount to murder in case of:

A. Grave and sudden provocation

B. Sudden quarrel

C. Exceeding the right to private defence

D. Done by a public servant but exceeding his powers during the course of his duty.
E. Done by a public servant but exceeding his powers outside the course of his duty.

Choose the correct answer from the options given below:

(1) A.B, Conly

(2) A.C.E Ouly

(3) A.B.E only

(49) A.B,C.Donly

Ffafe 7 3 i ama o 51 21 $ife 7 o 9T REF 9179 7Y 5l 87

A. TR 3R sEHE S

B. s@NE TS

C. ot witRan & Hfiyer ¥ afis

D. U% T So% gRT fean 7o dfe ey wooy & 9Rg H el wiEagl | e
E. U% o So% gr feean o dfee ey ooy & 9 e wiEaal | i

1 feu o Aecut & @ O IO &1 9o Sifen
(1) FTWA.B. C

(2) @A, C.E

(3) ¥TWA.B.E

(4) T@A.B.C.D

1[Option ID=17289]
2[Option ID=17290]
3[Option ID=17291]
4[Option ID=17292]

Sl. No.29
QBID:844174

Given below are two statements:
Statement I:  Fraudulent alterations of an electronic document is punishable under Section 465 of the Indian Penal Code:

Statement II:  Electronic records were added to Chapter XVIII of the IPC (of Offences Relatng to documents and to Property Marks)
by the IT Act, 2000.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

TS e fRume .

U | : WY &5 fed @1 4R 465 F T80 TP Soaeie oy § Hueqy oftad S5 § |
PR 11 : SaE AHEE! = gl HfEfmm, 2000 TR HEORT & am XVII ©EEe AR Tut F e 9 et ot &) 7 oot @ |
TE $YF & A H, A" f6U T et § ¥ 951 S &1 907 $id ;

(1) FYA-] SR eFf 9a 2

(2) FYA-] 3R -1 SHf o9 8

(3) TuA-] T &, Wi TuA-I A &

(4) FYA-] ¢, Ofe syl 99 &

1[Option ID=17333]

2[Option ID=17334]

3[Option ID=17335]
4[Option ID=17336]




Sl. No.30
QBID:844175

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Even in the absence of national legislation, every human enjoys human rights.
Reason R: Human rights are universal, malienable and inherent.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct.

TRIFFERTME . & i AT T T e IS SRUR & w0 8,
HEuT A - TE RByE F o # L vd Agw AHe USRI 1 SuEe S §
HRU R : AFAIYSR FEHITEE, Hoieasy iR s ¢ |

IR Y F HAE 1, A 28 U @ § § 951 St &1 997 S

(1) A IRRIE U § IRR, A 3w e 7

(2) A FRR A6 F e R, A F1 wt oo 78§
(3) AT R ARPIR T T2

(4) AW EIga R EEI &

1[Option ID=17377]
2[Option ID=17378]
3[Option ID=17379]
4[Option ID=17380]

Sl. No.31
QBID:844176

Match List T with List IT

LISTI LISTII
Contemporanea
A |Exposito Est I |A later law repeals an earlier law

Fortissima m Lege

: The finest way to interpret a Text 1s to
Lex Postertor

B. W II.  |read it as it would have read when it was
Derogat Priornt
2 construed

Impotentia Impossibility excuses the non-observance
G 118 e

Excusat Legem of the law

Expressio Unius "y . S
D. |Est Bnclusio v Explicit mention of one thing 1s the

: exclusion of another
alterius

Choose the correct answer from the options given below:
(1) A-L B-IL C-III, D-IV
(2) A-IL B-L C-II D-IV
(3) A-II, B-III, C-IV, D-I
(4) A-IL B-I, C-II, D-IV




et - 1% 1Y G - 11 BT e S -

sl T

[ UlISIEEN] BERET @l
. e 915 ol Bl @A @ @
A |sifearae Ll argl
BRI 37 T
ol UTe @1 oared ®3H & 9 d
A e Ui S3re i B WP Je & fe U I ®IH
|yt * |ger 9L, S 6 39 S & 99T Ul
AT T |
ST TaRyagde HUYTOd B B UleH 3 &3 &I
© lasm T eradie |
TERIE g T . |9 91 BT TF I gER Bl
D. E ; VIR 2

= U U [de el T ¥ 98l 3R &1 994 SIfol
(1) A-L B-IL C-IIL D-IV

(2) AL B-L C-II D-IV

(3) A-II, B-III, C-IV, D-I

(4) A-IIL B-I, C-II. D-IV

1[Option ID=17421]

2[Option ID=17422]

3[Option ID=17423]
4[Option ID=17424]

Sl. No.32
QBID:844177

Which of the following is NOT an internal aid of interpretation?
(1) Statement of Objects and Reasons

(2) Preamble

(3) Marginal Notes

(4) Schedule

fmffEd & & w19 oren F1 i gemar T8 &

(1) IE AR HRU 1 R

(2) WEEAl

(3) dmig qe

(4)

1[Option ID=17465]
2[Option ID=17466]
3[Option ID=17467]
4[Option ID=17468]

Sl. No.33
QBID:844178

Match List T with List IT

LISTI LISTII
A |Inevitable Accident I |Nichols v. Maishland
B. |Act of God I Smﬂh v. London and South Western
Railway Co.
C. |Vicarious Liability 1. |Stanley v. Powell
o [ v Mersq‘ Dock and Harbour Board .
Coggins

Choose the correct answer from the options given below:
(1) A-IIL B-I, C-IV, D-II
(2) A-L B-IL C-III. D-IV
(3) A-II, B-IV, C-IIL, D-I
(4) A-IV, B-II, C-I, D-III




et - 1% 1Y G - 11 BT e S -

I GCIR
A. |3uREr gee L Moy 59E aRids
TR & Tie U8 |13y e Yad
B. |cdl@aue L | e ffre

c. |ufaffi® gt 1L [REelt &9 Uidd

D. |Gifafy® wivert Iv. (74 3i® 3R gl e s PINg

i fau U faseul § 9 98t TR &1 90+ Hiiolt :
(1) A-IIIL, B-I, C-IV, D-II

(2) A-IL B-II. C-III, D-IV

(3) A-II. B-IV, C-II1. D-I

(4) A-IV, B-II, C-I, D-III

1[Option ID=17493]

2[Option ID=17494]

3[Option ID=17495]
4[Option ID=17496]

Sl. No.34
QBID:844179

Match List T with List IT

LISTI LISTII
A |MC Mehta v. Kamal Nath I |Marine Pollution
B Rural Litigation Entitlement Kendra n It .
" |v. State of UP : AN
€. |SamitMekita v: Uniion of India it |SochmenERubbc
Trust

Vellore Citizen Forum v. Union of . |Sustainable
D. : v,

India Development

Choose the correct answer from the options given below:
(1) A-L B-III, C-IV, D-I
(2) A-IL B-I, C-II, D-IV
(3) A-IL B-1V, C-I, D-I
(4) A-IV, B-I1, C-I, D-III

et - 1% WY Gl - 11 BT e S .

-1 -1
A [oHE Hedl §9H SHCATY 1[G g
Ed [l SCIgead=< ds
B- 5T SR W I IL[F7S 1 PR
C. [9fyd Hedl &H HRd 99 11T G418 &1 faid
D. [dcdR e BRA e YR Yajv [Tad faemy
il fou U fased d ¥ Tel 3R &1 994 Pilol :

(1) A-L B-III, C-IV, D-II
(2) A-III. B-1. C-II, D-IV
(3) A-II B-1V, C-I, D-II
(4) A-IV, B-II, C-I, D-IIT
1[Option ID=17497]
2[Option ID=17498]

3[Option ID=17499]
4[Option ID=17500]

Sl. No.35
QBID:8441710




Match List T with List IT

LISTI LISTII
A |Duguit 1. |Historical School
B. |Savigny II. |Pure theory of Law
C. |Kelzsen T |Analytical School
D |Bentham IV. |Sociological School

Choose the correct answer from the options given below:
(1) A-L B-IV, C-III, D-II
(2) A-IV, B-III, C-II. D-I
(3) A-IIL B-II, C-I, DIV
(4) A-IV, B-I, C-II, D-III

il - 1% |1y Yl - 11 B e SIfo :

-1 -1
A [=fe L [Ufderiye d @)
B. [afad 1. |f5fe 1 }5 i
C. [heEd 1. [[qecivuneis T
D. [{yH IV. [SHSRIRY Wd

= U U f[de el § O T8l 3R &1 904 SIful
(1) A-L B-IV, C-IIL, D-II

(2) A-IV, B-III, C-II, D-I

(3) A-IIL B-IL C-I. D-IV

(4) A-IV, B-1, C-IL. D-IIT

1[Option ID=17205]

2[Option ID=17206]

3[Option ID=17207]
4[Option ID=17208]

Sl. No.36
QBID:8441711

The Surrogacy (Regulation) Bill, 2019:

A. Prohibits commercial surrogacy.

B. Allows altruistic surrogacy for infertile couples.

C. The couples may be Indians or Foreigners.

D. The swrogate must be a close relative of the intending couple.
E. Provides for the establishment of National surrogacy Board.

Choose the most appropriate answer from the options given below:
(1) A.B,C.E only

(2) A.B.C.D.E Ouly

(3) A.B.E only

(4) A.E only

iR (fafae) s, 2010

A. Tiftifeos it &1 ufasfig o g
B. 91507 ad guford! SigeE) SR @1 gt gan 21
C. <ufy yredia @n e 5 9+d 2
D. WIE & 55& U &1 HaEl NLder §HT 9yl
E. ¥l SRR 918 &1 ®re1 & e yraw a2
e feu o fGecat & @ 98 IO &1 9o Sifen
(1) @A, B, C.E
(2) @A B.C.D.E
(3) T A.B. E
(4) FETA.E




1[Option ID=17209]
2[Option ID=17210]
3[Option ID=17211]
4[Option ID=17212]

Sl. No.37
QBID:8441712

With respect to the award of death penalty in India, which of the following is true?

(1) Death penalty must never be awarded

(2) Death penalty can only be awarded if the number of victims exceed six.

(3) The court awarding the sentence must consider all aggravating and mitigating circumstances.

Wherever the penal law provides for death penalty. it must be
awarded.

HRA # Jes o & g8y § ot § 9 o9 9d 82

(1) HF g = T & e Tk

(2) 9GS Haa ol fear o1 9ear 2, wa Gifsdl o1 dem 28 9 ofis &

(3) o= 27 At sigraa w1 Wt TR R w9 e anf ahfRifygt w far =iy
(4) w5 M &3 B A g0es 31 UEYH B, O 39 3awg fam o1 91y

(4)

1[Option ID=17213]
2[Option ID=17214]
3[Option ID=17215]
4[Option ID=17216]

Sl. No.38
QBID:8441713

Which of the following is true with respect to the ‘Right to be forgotten’?

A. The right to be forgotten is explicitly provided for in the constitution.

B. The right was affirmed in Justice Puttaswamy V Union of India.

C. It is a part of Article 21

D. The right has been governed in the IT (Intermediary Guidelines and Digital Media Ethics Code) rules, 2021.

E. It includes the right to object to the publication of information regarding one’s crimes and conviction to ease social integration.

Choose the most appropriate answer from the options given below:
(1) A.B,C.D only

(2) A.B.C.D.E only

(3) B.C.D only

(4) B.C.D.E only

Fofad d @ &F ymor & oieR ey d g e

A, YT o &1 SR wfau ¥ Wy ¥ d ueH fGar g
B. 9fRcd Gz a9M YR 99 § 59 fYER &1 g 1 s 0

C. U5 =g 21 F1 U& eel &
D. 15 iR e mawy fRmntE R fsfea fifsm smr dftan fFHow 2021 # enfsa feor man 1 1
E. SO 9Wifos UHI60 &1 HEH g4 & 010 il & Aoy SR Sefals & ddy § g1 & eE W iy &1 Sifdsr s §

A9 ey MU fawedl & 9 95 SR &1 954 S ;
(1) ¥IWA. B, C.D

(2) 3@ A.B.C.D.E

(3) $T@ B, C. D

(4) $99 B. C.D.E

1[Option ID=17217]
2[Option ID=17218]
3[Option ID=17219]
4[Option ID=17220]

Sl. No.39
QBID:8441714




A contract without consideration will be valid if it is

A A gift

B. An agreement made orally on account of love and affection

C. An agreement made in writing and registered on account of love and affection
D. Promise to pay a time-barred debt

E. For a past voluntary service

Choose the most appropriate answer from the options given below:
(1) C.D.E only

(2) A.C.D.E ounly

(3) A.B,C.D.E only

(4) A.B.E only

T fosit wioea & oF Ry A B afg a5 §

A. SR
B. UF 3R 9% ¥ &R Afa® w9 9 f&Far ma swga

C. TR 3 g ¥ MuR R A& ik doiiga us angiar
D. FIendia B0 &1 YT &34 &1 9Igl
E. fieeh @fess 01 & fig

41 fou T Teagt ¥ ¥ I8 O &1 994 S
(1) $9@ C,D.E

(2) #90 A, C.D.E

(3) #TWA. B, C.D.E

(4) ¥TWA.B.E

1[Option ID=17221]
2[Option ID=17222]
3[Option ID=17223]
4[Option ID=17224]

Sl. No.40
QBID:8441715

Exceptions to the concept of privity of contract are:

A. Beneficiaries under trust or charge
B. Minor

C. Marriage settlement

D. Partition

E. Covenants running with land

Choose the most appropriate answer from the options given below:
(1) A.B.E only

(2) A, C.E only

(3) A.C.D.E ounly

(4) B.C.D only

TS WY ] HTUNT F A E ;

A. T T1 9 & dgd armif

B. A5

C . foam THeiar @i demin
D. fauw=

E. 4 & 91 9o+ aril wefeen

4= fou o Tecgt # ¥ 98 O 51 954 SO
(1) 599 A, B. E only

(2) @A, C.E

(3) $TA, C.D.E

(4) @B, C.D




1[Option ID=17225]
2[Option ID=17226]
3[Option ID=17227]
4[Option ID=17228]

Sl. No.41
QBID:8441716

A V. Diecy’s Rule of Law includes:

A. Predominance of Legal Spirit
B. Supremacy of law

C. Written Constitution

D. Equality before law

E. Separation of powers

Choose the correct answer from the options given below:
(1) A.B.D.E only

(2) A.B.E Ouly

(3) A.B,C.D.E only

(4) A.B,D only

ud o F FwE F fow A mfa E

A, BT HIGAT &1 Tl
B. &1 &1 Faeal

C. Tifea diius

D. &7 & A THEA
E. =iidag! &1 gegesau

1 feu o Aecut & @ O IO &1 9o Sifen
(1) %90 A . B.D.E

(2) ¥TWA.B.E

(3) ¥TA. B, C.D.E

(4) $TA,B.D

1[Option ID=17229]
2[Option ID=17230]
3[Option ID=17231]
4[Option ID=17232]

Sl. No.42
QBID:8441717

Given below are two statements:

Statement I: Bill of Exchange must contain an unconditional order.
Statement II: Bill of Exchange can be in writing or oral.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

TR s i,

wu [ - e = § ue fomn o emew anfee 2

s=RU 11 : afe gz fofee o 9t 5 9sa 2

TR FYF F oE H, 59 fon U Gwedt # § 951 SR &1 9099 ST

(1) sy SR EH 9a E

(2) ®UF-] AR 11 Sf oma &

(3) HuA-] T &, Al wyA-I A &
(4) TYA-] 3T g, Wi Su-1l 9 &

1[Option ID=17233]
2[Option ID=17234]




3[Option ID=17235]
4[Option ID=17236]

Sl. No.43
QBID:8441718

Which Act mandates all financial institutions to maintain a record for all forms of transactions?
(1) Bankers’ Books Evidence Act, 1891

(2) Prevention of Money Laundering Act.

(3) Foreign Exchange Management Act, 1999

(4) Reserve Bank of India Act, 1934

w4 91 sfyfrmm o iy S & ol ver & 8937 % R ve T g @ w1 iRy Em
(1) SFER 51 T AfFEy, 1891

(2) e=-=eE R st

(3) TocEl g veem s, 1999

(4) vty frad 3 oftfam, 1934

1[Option ID=17237]
2[Option ID=17238]
3[Option ID=17239]
4[Option ID=17240]

Sl. No.44
QBID:8441719

Arrange the following in the order in which criminal procedure takes place.

A. Investigation

B. Examination of witnesses
C. Framing of charges

D. FIR

E. Police Report

Choose the correct answer from the options given below:
(1) D-A-B-C-E

(2) D-A-E-C-B

(3) D-E-C-A-C

(4) D-C-A-B-E

FofafeT &1 39 w0 ¥ ooafem &, o smoufyes wirm e 2

A, 3Eum

B. TaTg &1 9dan
C. 3 = B
D. UF.35.3R.

E. gftrg fard

1 feu o Aecut & @ O IO &1 9o Sifen
(1) D-A-B-C-E

(2) D-A-E-C-B

(3) D-E-C-A-C

(4) D-C-A-B-E

1[Option ID=17241]
2[Option ID=17242]

3[Option ID=17243]
4[Option ID=17244]

Sl. No.45
QBID:8441720

Which of the following is known as an umbrella legislation?
(1) The Water Act, 1974

(2) Wildlife Protection Act., 1972

(3) Forest Conservation Act., 1980

(4) Environment Protection Act, 1986
frafafad # 9 &9 gaeadt Ty s wsudaT v g |

(1) v iU, 1974

(2) il degun St 1972




(3) T =em A, 1980
(4) ugfowo dwem sfafaE, 1986

1[Option ID=17249]
2[Option ID=17250]
3[Option ID=17251]
4[Option ID=17252]

Sl. No.46
QBID:8441721

Earth Summit is also known as:
(1) Rio Declaration
(2) Stockholm Declaration
(3) Johamnesburg Declaration
(4) Nairobi Declaration
gedt farey aeH & fg = & ot o aran §
(1) T gmon
(2) =isgd g
(3) g =
(4) R g
1[Option ID=17253]
2[Option ID=17254]

3[Option ID=17255]
4[Option ID=17256]

Sl. No.47
QBID:8441722

Match List I with List II

LISTI LISTII
A |Solomon v. Solomon L Dciaine ot akons
Management
B. |Lee v. Neuchatel Asphalt II. |Reserve Fund
C. |Roval Bntish Bank v. Turgvand | III. |Majority Rights
D. |Foss v. Harbottle IV, |Lifting of Corporate Veil

Choose the correct answer from the options given below:
(1) A-IIL B-I, C-IV, D-II
(2) A-L B-III, C-II, D-IV
(3) A-IV, B-II, C-I, D-IIT
(4) A-IL B-L C-III D-IV

il - 1'% 1Y Il - 1T BT e DT -
A -1 T -11

A [T §AH eEA 1 |3 wa Y @l Ngid
B. [c7 d1. ¥ Jdcd 3 Wmiee | I1. [Red [fY

C. R1ad [§iew o a-TH qRIPIa | 111 [ & SHUPR
PO A BT A0

D. 619 &4 gdied v, (e s FRURE
RIS
i fu U f[deedl § O T8l 3R &1 994 Sl

(1) A-IL B-I. C-IV., D-II
(2) A-L B-III, C-II, D-IV
(3) A-IV, B-II. C-I, D-III
(4) A-L B-I C-II. D-IV
1[Option ID=17257]
2[Option ID=17258]

3[Option ID=17259]
4[Option ID=17260]

Sl. No.48
QBID:8441723




Given below are two statements:

Statement I:  Every listed company with a paid-up capital of Rs. 10,00,00,000/- (ten crores rupees) or more must appoint a key
managerial personnel.

Statement II: A person may act as a key managerial personnel m more than one listed company but the number must not exceed five
companies.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true

ijqa}?ggasmﬂ;ﬁgg%ﬁmw10.00.00.000@mﬁ@m%ﬁm@%@wmwmmﬁﬁwmm|
BN 1] ; U dfed Uh 9 S ghiag U1 § U6 THE TS SliEs & w0 8 B/ $Y 96l & e Sus! Se U sut-al § e 781 g1 afzg
Iauﬁaa$uﬂé;&ﬂﬁ1$ﬁiﬁéﬁqwﬁﬁﬁﬁﬁﬂﬁwaﬂwaﬁﬁn;

(1) ®u=-1 R 11 SHf 94 3

(2) HYA-1 3R I g o &

(3) FY-1 ¥ 3, e wuA-11 o &

(4) =v-] sET B WA A SO E

1[Option ID=17261]
2[Option ID=17262]
3[Option ID=17263]
4[Option ID=17264]

Sl. No.49
QBID:8441724

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The Articles of Association of a company may restrict the right of shareholders to petition for winding up of a company.
Reason R : In case of a conflict between the Companies Act, 2013 and the articles of Association, the Act will prevail.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

HUPYT A : FU S GH-Tw5E S F INEATH F Y SRYRST O & AR 1 it s aed § |
FRO R : BT AT, 2013 iR TH-oFwee © O9 9O & a1aeT & s 8, sttt g
TIE FYF & e F, A9 {4y 10 el # § w96 S &1 95 S

(1) A JRREHE 98§ IR, A 31 W arE 7

(2) A SRR EH 98 & dfFT R, A £ w8l arem T8 &
(3) AGd TSt dfFAREd AE &

(4) AT e afET R EE R

1[Option ID=17265]
2[Option ID=17266]
3[Option ID=17267]
4[Option ID=17268]

Sl. No.50
QBID:8441725

Given below are two statements:
Statement I: Notice for a meeting must be given to every member of a company in writing 21 days before of the meeting.
Statement II: Notice shall be deemed to be received at the expiration of 48 hours from the time of posting.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true




(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement IT 1s true

I C Rt

FUT] : B P TOF 9o @] dod & (oY [aad § 3R 95 & 21 foot ¥ ugdt Aifew fear 9 =iz |
RO ][ ; A" & 9IRS & 999 9 48 9 & A 9 99 Wi 31 S |

TRIGd YT F oS B, 79 o8 U Teeat # I 98 ST &1 997 S

1) TSRS TR

(2) -1 SR -1 ST 3 &

(3) FYA-]1 9 3, S BuA-11 o &
(4) TYA-] 3T &, Ui Sl 9 &

1[Option ID=17269]
2[Option ID=17270]
3[Option ID=17271]
4[Option ID=17272]

Sl. No.51
QBID:8441726

Match List T with List IT

LISTI LISTII
(Jural Position) (Jural correlatives)
A |Rights [ |Liability
B. |Power II. |Duty
C. |Privilege III. |Dusability
D |Immunity IV. |No-nights

Choose the correct answer from the options given below:
(1) A-IV, B-II, C-I, D-III
(2) A-IL B-L C-IV, D-III
(3) A-IV, B-III, C-II. D-I
(4) A-L B-IL C-III, D-IV

el - 1 1Y Il - I T e DI -

TN | o fafera ey
A 3R L [agdl
B. [@fad IL [®d
C. [AEEigdR 1. |rgdelan
D. [39fad IV. |[®13 3MiU®BR 781

= U U [de el T ¥ 98l 3R &1 994 SIfol
(1) A-IV, B-II, C-I, D-III

(2) AL B-L C-IV. D-III

(3) A-IV, B-III, C-II, D-I

(4) A-L B-IL C-IIL D-IV

1[Option ID=17273]

2[Option ID=17274]

3[Option ID=17275]
4[Option ID=17276]

Sl. No.52
QBID:8441727

According to Henry Maine, the stages of development of law are:

A. Knowledge of law in the hands of the priests
B. Codification

C. Legal fiction, equity, legislation

D. Customary law

E. Law made by the ruler under divine inspiration

Choose the correct answer from the options given below:




(1) A-D-E-B-C
(2) A-D-C-B-E
(3) E-D-A-B-C
(4) E-A-D-C-B

B B % R, B & 6N & W0 &

A urEiigenival & g1y # S =1 391

B. digamsm

C. il sea

D. =fgea fafy

E. &d1g 3R1 % Ted WNE g1 &9 T4 A

9 fou T TFed! ¥ € 981 5T & 994 S
(1) A-D-E-B-C

(2) A-D-C-B-E

(3) E-D-A-B-C

(4) E-A-D-C-B

1[Option ID=17277]
2[Option ID=17278]

3[Option ID=17279]
4[Option ID=17280]

Sl. No.53
QBID:8441728

Which of these judgements does not deal with tribunalization of justice?
(1) Union of India Vs. Madras Bar Association

(2) Salem Advocate Bar Association (2) Vs. Union of India

(3) L. Chandra Kumar Vs. Union of India

(4) Union of India Vs. Delhi High Court Bar Association

o 9 == 1 Ffa = & i (fEegaageie) § 96id e E |

(1) HRA HY §H A5 9R THIRIRE

(2) HUH USdie SN THINGEHE (2) §9H YRd 99

(3) UU T FAR gH HRG §9

(4) Rd ¥9 5= fewfl g8 B¢ AR i

1[Option ID=17281]
2[Option ID=17282]
3[Option ID=17283]
4[Option ID=17284]

Sl. No.54
QBID:8441729

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Audi Alteram Partem is a principle of natural justice.
Reason R: It means that no one should be punished without being heard.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct.

F4 21 FYF 3T M0 § UF AfHUA (Assertion A) F w9 H ¥4 § T g0 99 SR (Reason R) & w0 H
T A 3Tt oo uidn Fufile =g @1 e sk 3
HRUR : 5961 Faod ¢ & el &1 0 g7 & <fea 78t fea o anfge)

SiEd HYF & A 8, A 5 Y Tedt § 9§ 999 95l 3O ®1 909 S
(1) A JRREFE 98 2 IR, A 31w arE 7
(2) AFRREF T2 AR A S T w78 &




(3) ATt RIG &%
(4) ATSI TSI e AT R 981 2

1[Option ID=17285]
2[Option ID=17286]
3[Option ID=17287]
4[Option ID=17288]

Sl. No.55
QBID:8441730

Where the legislation is complete in itself but its operation depends on the fulfilment of certain conditions. and the power to determine
whether or not the said conditions have been fulfilled has been delegated, this type of legislation is called:

(1) Delegated legislation
(2) Conditional legislation
(3) Exceptional legislation
(4) Sub-legislation

Tl BHA H9H 19 H G § Wit SHET Hadd el B & 9 W Rk & & R a8 Fuifa s 91 ofE @ w0 g9 odl & @@ G g o =9
&1 FmEiheg a1 T € 59 YeR $ U &1 S8 9 6-

(1) vt Bye

(2) T faumE

(3) mEyR Fy=

(4) 3o-{ue

1[Option ID=17293]

2[Option ID=17294]

3[Option ID=17295]
4[Option ID=17296]

Sl. No.56
QBID:8441731

Given below are two statements:

Statement I: To establish the Tort of negligence, the plamntiff has to establish that the defendant owed the plamtiff an exceptional duty of
care.

Statement II: The plamtiff to a claim of Tort of negligence must also establish that the defendant breached the duty.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

H &1 o fag g 2
FUY-] : TRATE! & FA FI WG F F g, ot $1 78 wIftd F331 5 & viardt &1 9t o= F fim v YR A B
FYA-1] : TR ¥ F@ $ gE F g aidl 1 75 ff it = 5 fF it T wden &1 Swes a2

TRIT YA & HTES 3, 419 154 T4 Teel ¥ 3 969 Iugad T 31 994 S
(1) A1 3R Sy 81 9 &

(2) HYF-] AR BYA-II SH1 3/ &

(3) FYA-1 94 T, A SyA-11 o &

(4) FYF-] oA & AfFT s 99 &

1[Option ID=17297]
2[Option ID=17298]
3[Option ID=17299]
4[Option ID=17300]

Sl. No.57
QBID:8441732

‘Which of the following will not amount to private nuisance?

(1) Encroachment
(2) Easementry rights
(3) Direct physical mjury to the land




(4) Interference with the quiet enjoyment of land

fmffEg & § v il 39 F fig Geier ==& gmm
(1) affasam

(2) fEEeF R

(3) MfEr =1 sy i &y

(4) Hftr & =ifaqul areig & Ts

1[Option ID=17301]
2[Option ID=17302]
3[Option ID=17303]
4[Option ID=17304]

Sl. No.58
QBID:8441733

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A fair and bona fide comment is no libel.
Reason R: The defence of fair and bona fide comment may be claimed only if the said comment is made in public interest.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct.

2 < Ty faU MY & F fieyE (Assertion A) F w0 H T & O GO S9& $RU (Reason R) & U H

BT A ; TP Teae iR arsafas fomul sraome o| T8 §
FR R : Ty o wafire fronft 6t 2en &1 g a1t o o 9%a &, 99 Soa Rfwth adete Ra g S e e
SWRiE FYF & @ H, i 4 U fed! 7 9 95 ST #1999 S

(1) ANRRIFT@EIRR AF T a3

(2) A SRR M 9@ E dfeT R, A #1 °dl anem 78 &
(3) ATOE AFAR s

(4) AU dFIRITE

1[Option ID=17305]
2[Option ID=17306]
3[Option ID=17307]
4[Option ID=17308]

Sl. No.59
QBID:8441734

The Competition Act, 2002 replaced which legislation.

(1) Consumer Protection Act, 1986

(2) Monopolies Act, 1984

(3) Competition Act, 1984

(4) Monopolies and Restrictive Trade Practices Act, 1969
wfertfira afafmm, 2002 A g w7 ot wfiowifia e

(1) SovrE wvam sfgfam, 1086

(2) wedwR HfEFEE, 1984

(3) wiediia aifafaom, 1084

(4) THIESR R AieeE S9R Saer SHFmH, 1969

1[Option ID=17309]
2[Option ID=17310]
3[Option ID=17311]
4[Option ID=17312]

Sl. No.60
QBID:8441735




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A student P requests the examining body to provide details of a candidate Q for the upcoming entrance exam under a RTI
Application. The request is rejected by the Public Information Officer of the examining body.

Reason R: Information that is related to personal information of a person and the disclosure of which has no public mterest need not be
disclosed as per Sec 8(1) (j) of the RTT Act.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct.

F= <1 FYA 2T 1Y 8 UF S YA (Assertion A) F w0 H fEd § @ g9 S9% SR (Reason R) & U,

HftEE A ;U6 B P el SR € UF N O s & ded ST HaR adieT # Ue gl S Q &1 SR YeH e &1 A0y fHa1 | 98 gy Wi
FRH & Gda-E gaA1 AR G SRAeR & G g |

HRU R : a1 o el oufea &t @fdara T 3 ST § iR foas adete Bd 9 i o 961 6 39 SReles HiSFmm & 4 8()E@) & HgaR
Ve HX4 B ATRGEHAl Tol © |

IuilEd HUH & i A, A9 3y 1 el # § 95l 3w %1 997 Sl

(1) ANRREF SO AR R AF Sl O &

(2) A SRR M 9@ E dfeT R, A #1 udl anem 78 &
(3) ATUR AFTIR T 2

(4) Aaz dfFTRITE

1[Option ID=17313]
2[Option ID=17314]
3[Option ID=17315]
4[Option ID=17316]

Sl. No.61
QBID:8441736

Which of the following is NOT an example of legislation to tackle white-collar crimes?
(1) Essential Commodities Act, 1955

(2) Narcotic Drugs Psychotropic Substances Act, 1985

(3) Prevention of Corruption Act, 1988

(4) Motor Vehicle Act, 1988

fafafed § & $19 ahaum smwref @ fued & g &1 &1 Iem T8 87
(1) MEwg® a5 AU, 1955

(2) s A9y wTayE ggef fafmm 1085

(3) wyER faro afafmm 1988

(4) Hrex 9159 gy, 1088

1[Option ID=17317]
2[Option ID=17318]
3[Option ID=17319]
4[Option ID=17320]

Sl. No.62
QBID:8441737

Match List I with List II

LISTI LIST II
A |Conditional Transfer I |[Sec. 14
B. |Vested Interest II. |Sec. 19
C. |Doctrine of Election 1. |Sec. 35
D. |Rule agamst perpetuity IV |Sec. 25

Choose the correct answer from the options given below:
(1) A-L B-III, C-IV, D-I
(2) A-L, B-IV, C-II, D-III
(3) A-IV, B-II. C-III, D-I
(4) A-IIL B-I, C-II, D-IV




el 1% 1Y Gl 11 DT T By

A I T I
A [GEd R I |[gFEE-14
B. [Ffgd @ I [GeH-19
C. |gE @ fasia I [HEH-35
D. [an%cdl & faeg | | IV, [Wa=H-25
i fou U fawedl § 4 98l SR &1 994 BIelE:

(1) A-L B-III, C-IV, D-II
(2) A-IL B-IV, C-II, D-III
(3) A-IV. B-II, C-II1. D-I
(4) A-IL B-I, C-II, D-IV
1[Option ID=17321]
2[Option ID=17322]

3[Option ID=17323]
4[Option ID=17324]

Sl. No.63
QBID:8441738

A transfer of a right to enjoy a property. made for a certain time. express or implied, or in perpetuity. in consideration of a price paid or
promised or of money. a share of crops. service, or any other thing of value to be rendered periodically or on specified occasions to the
transferor by the transferee is known as:

(1) Sale

(2) Lease

(3) Mortgage

(4) Actionable Claims

T Al (SEEE) TR ol (ChIE) B Ue F5f $ SUan 31 Us HieR te Miye 999 & - oo o1 ffg o1 myaw § yas o 78 S a
e a1 o, B, gaisl a1 FiEa @ G on 9 F oF R oy omefie w9 9 a1 faftw emel w fafa fea man 59 fEe v § o o @

1) f&@t

(2) fiw

(3) Frdi

(4) HraErE 3 [

1[Option ID=17325]

2[Option ID=17326]

3[Option ID=17327]
4[Option ID=17328]

Sl. No.64
QBID:8441739

Match List T with List IT

LISTI LISTII
A |Reference I |Order XXXVIIT
B. |Temporary Injunction II. |Order VIII
C. |Arrest before Judgement III.  |Order XLVI
D. |Written Statement IV. |Order XXXIX

Choose the correct answer from the options given below:
(1) A-L B-IL C-III D-IV
(2) A-II, B-1V, C-IL. D-I
(3) A-IL B-I, C-II. D-IV
(4) A-IIL B-1V, C-I, D-II




el 1% 1Y Gl 11 DT T By

el T 1
A ey L |S{C® XXXVII
B |erurdi &y i I R
C |gd ¥ ygd RROanT L |3 XLVI
D. |Rea=su= V. |afmc® XXX
i fou U fawedl § 4 98l SR &1 994 BIelE:

(1) A-L B-II, C-III, D-IV
(2) A-IIIL B-1V, C-II. D-1
(3) A-III. B-1. C-II. D-IV
(4) A-III, B-IV, C-I, D-II
1[Option ID=17329]
2[Option ID=17330]

3[Option ID=17331]
4[Option ID=17332]

Sl. No.65
QBID:8441740

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Courts are barred from trying a suit if it pertains to a matter that has already been dealt with in a previous suit between the
same partics under the same title and has been finally decided.

Reason R:  This is the doctrine of res judicata and is dealt with in Sec. 11 of the Code of Civil Procedure, 1908.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

F <1 FuA 2T MY §: UF fisuA (Assertion A) F w0 H ffEd § @ g9 S9% SR (Reason R) & U

sty A - ofg 215 g 50 08 Ad & S9fia 2, o ot ¥ & oea o1 el ¥ 9 e fied geed § uedt € e &1 9@ § Sk siftm =y
§ fof fomn a1 B, @ orgadl # gEem 9o ¥ UF Rmw@n g |

HRO R : 98 @-019 $1 Fagia § #i% i ofar gfgan 1908 &t uwr 11 #afifa & |

THRIE FYH & ATE |, A" G T el § 9 95 S &1 994 S
(1) A FRREF TUEIRR, A B v mren &

(2) A SRR M 9@ E dfeT R, A #1 udl anem 78 &

(3) ATUR AFTIR s 2

(4) Aaz dfFsTRITE

1[Option ID=17337]
2[Option ID=17338]
3[Option ID=17339]
4[Option ID=17340]

Sl. No.66
QBID:8441741

The formal expression of an adjudication m which the court conclusively determines the rights of the parties of a suit 1s known as
(1) Judgement

(2) Summon

(3) Decree

(4) Order

U rg- g @1 v sfiefe, R sriod 0 0e ¥ waenl & SieRl @ Fuie w9 3 Feig #3690 8 F 9 8 a9 o

(1) faufg

(2) TFA

(3) f&=i




(4) amem

1[Option ID=17341]
2[Option ID=17342]
3[Option ID=17343]
4[Option ID=17344]

Sl. No.67
QBID:8441742

A case relating to an offense punishable with death. imprisonment for life or imprisonment for a term exceeding two years:
(1) Summons-case

(2) Non-cognizable case

(3) Cognizable case

(4) Warrant case

g, HGie- SRIE 31 5 98 § Hfie &1 @l & SRa™ & 91y S50 SOy § Fafta o

(1) w9

(2) R H3g AHT

(3) w3 AT

(4) TrE AT

1[Option ID=17345]
2[Option ID=17346]
3[Option ID=17347]
4[Option ID=17348]

Sl. No.68
QBID:8441743

Match List T with List IT

LISTI LISTII
A |Arrest how made I |Section 43
B. |Arrest without warrant II. |Section 44
C. |Arrest bv Magistrate III. |Section 46
D. |Arrest by Private Person IV. |Section 41

Choose the correct answer from the options given below:
(1) A-IIL B-1V, C-IL. D-I
(2) A-IV, B-II, C-I, D-III
(3) A-IIL B-I, C-IV, D-II
(4) A-L B-III, C-IV, D-II

il 1% 1Y Gl 11 D1 eI By
T 1 T I

A TR $Ugs L [uRT43
B. |dRe & faH1 FRRT I |uRT44
c. [Afge g1 R 1L |4RT46
D. U Mel ofied a1 TR IV. |4RT41

< fSu U f[deedl O 9 98l 3R &1 904 Sl
(1) A-IIL, B-IV, C-II, D-I

(2) A-IV, B-IL, C-I. D-IIT

(3) A-IL B-IL, C-IV, D-II

(4) A-L B-III, C-IV, D-II

1[Option ID=17349]

2[Option ID=17350]

3[Option ID=17351]
4[Option ID=17352]

Sl. No.69
QBID:8441744

Which of these is NOT an institution established for the welfare of children in conflict with law?
(1) Children’s Home
(2) Place of Safety

(3) Observation Homes




(4) Special Homes

T A B P B S S O S & pea & Ry i s T 2
(1) "eswEH

(2) TIXET H WH

(3) g g

(4) fau g

1[Option ID=17353]
2[Option ID=17354]
3[Option ID=17355]
4[Option ID=17356]

Sl. No.70
QBID:8441745

Where a subordinate Court sends a suit to the High court for its opinion, it is known as ?
(1) Revision

(2) Reference

(3) Review

(4) Appeal

el T SR O, 9= AUy & 39! I F Y 0 18 Y91 7 59 59 w9 & 91 9 82
(1) e

(2) wayf

(3) qAfdam

(4) 3@

1[Option ID=17357]
2[Option ID=17358]
3[Option ID=17359]
4[Option ID=17360]

Sl. No.71
QBID:8441746

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A hands over a railway receipt concerning the delivery of goods. to B. A is said to have delivered possession for the
purpose of a contract of bailment.

Reason R: Sec. 149 of Contract Act recognizes both actual and constructive delivery.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

Fr <1 FYA faU MY & F fieyE (Assertion A) F w0 H fIfE@d & o GO S9% $RU (Reason R) & w9 #:

Y A - T A @ el @ Safie Yoe Wi, & 3 o 21 T S o w5 F SufHE F orey % woiee F R sfier fem mm R
FRO R : e AAFEH 1 URT 149 Trafas iR EEeE G g 1 A ol 8

IWiE $YF & of|ii® H, A9 {3y 1y Gl § § 998 ugad I &1 999 S

(1) A IRREE T § IRR, A 3w e 7

(2) A SRR 3HT 981 & @i R, A 31 ¢ oOrs 81 8
(3) AT APTR T A7

(4 ASEEg A R EE 7

1[Option ID=17361]
2[Option ID=17362]
3[Option ID=17363]
4[Option ID=17364]

Sl. No.72
QBID:8441747




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Pratap. a trade union leader is arrested for conspiring and damaging the car of the owner of the factory he works in. The
High Court held the arrest to be justified.

Reason R: Sec. 17 of the Trade Union Act does not grant immunity to all acts of office-bearers of the Trade Union.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false.

(4) A is false but R is true.

e <1 FYA AU T8 & UF fiSYA (Assertion A) F w0 H fTEd § @ g9 99% SRV (Reason R) & U H,

HYFYA A ; 25 gfEH 701 90 B 39 el $ AIGE & [Gos e S IR SU $R &1 JH9H dgdH & 9RM § IRRR e 7 € e g
HTH Tl 2| TaHie 7 50 TRuaH! &1 981 s3]

SR R : £5 oA i 31 4w 17 35 g & qarideial & oW $af & o Sfed e 78 &l ¢ |

TRIEd HYH & HEE 5, A1d G Y el § 4 951 St &1 994 Sl

(1) ANRRIFT@EIRR AF T a3

(2) ARREA T AT R, A 1 9¢ oorem 78 &
(3) ATOE AFAR smT 2

(4) AaE AfFTRITE

1[Option ID=17365]
2[Option ID=17366]
3[Option ID=17367]
4[Option ID=17368]

Sl. No.73
QBID:8441748

Given below are two statements:
Statement I: An establishment may pay different rates for similar work for male and female employees.

Statement II: Law does not prohibit or restrict the right of an establishment to decide on wages and remuneration for male and female
employees as long as mminmum wages are paid.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement IT are true

(2) Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

BIERUCURATUR -+

HU [ ; TF UasE geu AR Afzer sHaiEl S 99 SR & o fim ol o1 yaA SR aa T g |

@Y 11 : O ad gAdH da- &1 YT 601 ol 2, 17 989 R afgen siariat & g 307 ok aiffis o fufg &9 % g 6 ufaem & afier
@1 fiftg o Pt af sxar 2

SR S & oS H, A9 gy U feedf # 9 w9l S &1 95 s

(1) =] R ST
(2) =1 R M aTT 2
(3) T TOE WpI s AT 8
4) A NI E AFTFU I T8

1[Option ID=17369]
2[Option ID=17370]
3[Option ID=17371]
4[Option ID=17372]

Sl. No.74
QBID:8441749

Which of the following statements is not true with respect to the relationship to third party as per the Indian Partnership Act?
(1) The liability of the partners is joint and several.
(2) The partner is an agent of the firm.

The liability of a partner is limited to the amount of capital

G3) invested by them.




(4) The firm is liable for the tortious acts committed by a partner in the ordinary course of business of the firm.
Fgfafes § & w1 &1 Fy= uRdD aeer dRRTm S sge R T oy F iy FaR A Ag
(1) el #1 uar d9ged AR FE o

(2) TEEH FH F1 TF ToE 2
(3) UF UEER S &gal 3% g Ham & 78 oot it iy g difa 2

(4) TH F TR F T T e F 59 7 1F UFER 5R T U ehe Fot ¥ fiy o e 2

1[Option ID=17373]
2[Option ID=17374]
3[Option ID=17375]
4[Option ID=17376]

Sl. No.75
QBID:8441750

Which of the following core conventions of ILO has India NOT ratified?
(1) Equal Remuneration Convention, 1951

(2) Abolition of Forced Labour Convention, 1957

(3) Mmimum Age Convention, 1973

(4) Right to Organise and Collective Bargaining Convention, 1949,
YRT F o1 T of F Fafaten 3 § feg or sfiwma 1 ogemls 78 o 22
(1) wmE wfefas sfimmg, 1951

(2) urd ¥4 & 3o dedl afierg, 1957

(3) =IATH 1Y iy, 1973

(4) A AR AR Seaml & AR e iy, 1949

1[Option ID=17381]

2[Option ID=17382]

3[Option ID=17383]
4[Option ID=17384]

Sl. No.76
QBID:8441751

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: An employee meeting with an accident on his way to work is said to have met with the accident in the course of
employment.

Reason R: This is known as the doctrine of notional extension of employer’s premises.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false.
(4) A is false but R is true.

H 1 w4 Ay T & 0F fiSUT (Assertion A) F U H ¥4 § 1 g9 59 &R0 (Reason R) & U H,

HHBUT A ; FHIN F FH R A & SR T H ghed &1 SR 8 & I & $51 91 & 6 38 T4 F S gHedT & JHA1 ST 957 o7 |
FRU R : 38 Foed & ot & Jero TR & oo F s d v v & |

TRIE FYH & AHE 5, A" G Y el § 9 95 S &1 994 S

(1) ANRREF 9T E AR R, A ¥ Sl e &

(2) A SRR M 9@ E dfeT R, A #1 udl anem 78 &
(3) ATUR AFTIR T 2

(4) AU AFIRITE

1[Option ID=17385]
2[Option ID=17386]
3[Option ID=17387]
4[Option ID=17388]

Sl. No.77
QBID:8441752

Which one of the following statement is not correct?
(1) Article 14 of the Constitution deals with Equality before law
(2) Article 21 A of the Constitution deals with right to Education




(3) Article 17 of the Constitution deals with Abolition of Untouchability
(4) Article 21 of the Constitution deals with living wage, etc. for workers
Frefafes # § o W $u= sfw 767 %

(1) Sy &1 og=se 14 fafy & THe 9o 4 defim @

(2) R &1 ogwe 21 e & ofier @ Wdfia

(3) Wi &1 agese 17 SRgwdl & SO & gafa 3

(4) Sy &1 =5 21 4fhe! & fay fafs Aogd @ W&fim g

1[Option ID=17389]
2[Option ID=17390]
3[Option ID=17391]
4[Option ID=17392]

Sl. No.78
QBID:8441753

Which of the following methods fall under ADR ?

(1) Legislation, Arbitration and Negotiation

(2) Mediation, Legislation and Conciliation

(3) Arbitration, Conciliation, Mediation and Negotiation
(4) Negotiation and Legislation

ADR % 3i@d B9 ¥ oiie 3 7

(1) SFH, HERal AR S

(2) &9 =99, FF SR gOE

(3) TRYT], TS, §d 9919 3 Fadd

(4) &9 59@ IR FF

1[Option ID=17393]
2[Option ID=17394]
3[Option ID=17395]
4[Option ID=17396]

Sl. No.79
QBID:8441754

According to the Hindu Succession Act, who among the following is a class IT heir of a Hindu Male dying intestate?
(1) Father

(2) Mother

(3) Son’s son's daughter

(4) Son’s widow

fig TIYeR fifmm F oer, P § € o1 a1 w3 o o feg gow &1 ficfio oo s e &
(1) fiar

(2) =

(3) ¢ & &l Fl

(4) ¢ 3 faear

1[Option ID=17397]

2[Option ID=17398]

3[Option ID=17399]
4[Option ID=17400]

Sl. No.80
QBID:8441755

Given below are two statements:
Statement I: An unmarried Hindu female may adopt under Hindu Adoption and Maintenance Act, 1956.

Statement II: If a Hindu female adopts a male child under the Hindu Adoption and Maintenance Act. 1956, she should be senior to the
child by at least 21 years.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Statement I and Statement II are false

(3) Statement I is true but Statement I is false

(4) Statement I is false but Statement II is true




4 & ue Ry M

®U [ ; U Sifdariea fig afken g e 98w ot vavamE «ififyad, 1056 % dgd e @ 9l & |

FuA 11 ; afy o5 fRg afew fRg aas gaw ok vavEmE Hfifom, 1056 Fied s U e Sl gl & A N = S WA FA G HA 2] s ol
RN

TRIEd HYH & HEE 5, A1d G Y el § 4 951 St &1 994 Sl

(1) FF] R G 9d

(2) F¥F] AR &Ff od &

(3) U] T L, M BRI o &

(4) TE] SNA e AETFUE I FOE

1[Option ID=17401]
2[Option ID=17402]
3[Option ID=17403]
4[Option ID=17404]

Sl. No.81
QBID:8441756

The Constitution of India has no provision for removal of:

(1) President
(2) Vice President
(3) Judge of the Supreme Court

(4) Governor

URA & GfuH § fra®! ger &1 s wad= Tl &
(1) Al

(2) TP

(3) TR & o

(4) TeUHIT

1[Option ID=17405]
2[Option ID=17406]
3[Option ID=17407]
4[Option ID=17408]

Sl. No.82
QBID:8441757

The Directive in Art. 40 of the Constitution of India was fulfilled by the
(1) Nationalization of Banks Act, 1992

(2) Panchayati and Nagarpalika Act, 1992

(3) Withdrawal of Privy Purses Act, 1992

(4) Nationalization of Insurance Companies Act, 1992

HRA & AU & sjwse 40 § Haw fges gr1 9@ far /@

(1) ¥ = PR sHfEfEm, 1092

(2) Tt SR A «fafae, 1092

(3) ud o =t el sfafmm, 1992
(4) o1 Hufagt &1 UPs HfEfEs, 1002

1[Option ID=17409]
2[Option ID=17410]
3[Option ID=17411]
4[Option ID=17412]

Sl. No.83
QBID:8441758

Article 19(4) allows the state to impose reasonable restrictions on the grounds of
(1) Public Order, Morality, sovereignty or integrity of India.

(2) Interest of general public or for the protection of schedule tribes.

(3) Sovereignty, integrity and security of the state

Sovereignty, integrity, public order, and friendly relations with
foreign nations.

=T 19(4) F YR W T F1 I wiady o= $ oAt a1 &
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(4) TWHT, S, T wEw AR HaE ayl F wry gy g9y
1[Option ID=17413]

2[Option ID=17414]

3[Option ID=17415]
4[Option ID=17416]

Sl. No.84
QBID:8441759

The National Commission for Backward Classes was established under
(1) Article 338 B
(2) Article 279 A
(3) Article 342 A
(4) Article 350 B

firge o % g wfln andm % =T fFas deq &1 9
(1) =55 338 1
(2) ag=53 2791
(3) 3g=53 3421
(4) arg=sg 350 =1

1[Option ID=17417]
2[Option ID=17418]
3[Option ID=17419]
4[Option ID=17420]

Sl. No.85
QBID:8441760

Which of these is NOT an ingredient for invoking necessity as a ground for preclusion of wrongfulness of an act:
(1) Essential Interest of the state

(2) Grave and imminent peril

(3) Breach of Peremptory norm by the other mternational actor

(4) Only means of safeguarding the said mterest.
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1[Option ID=17425]
2[Option ID=17426]
3[Option ID=17427]
4[Option ID=17428]

Sl. No.86
QBID:8441761

Which of the following is NOT true with respect to dying declaration?
(1) It is based on the mexim “Nemo Moritturus Proesumitur Mentiri™.

It must pertain to the cause or circumstances pertaining to his
death.

(3) It must be recorded by a judicial magistrate

(2)

(4) It must be made voluntarily.

fpfafea § & $19 gg Fiive 9w F 9y F T8 T8 87
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1[Option ID=17429]
2[Option ID=17430]
3[Option ID=17431]
4[Option ID=17432]




Sl. No.87
QBID:8441762

Doli incapax in case of child below the age of seven years is
(1) Presumption juris et de jure

(2) Presumption juris

(3) Permissive presumption

(4) Huminis vel judicis

T I § T 39 F T & g H Sl shieE B

(1) SFAH- GRE E S 9T

(2) SIFHEH- TR

(3) SFFT A

(4) Tofafw aa sfefm

1[Option ID=17433]
2[Option ID=17434]
3[Option ID=17435]
4[Option ID=17436]

Sl. No.88
QBID:8441763

Match List T with List IT

LISTI LISTII
A |Sec. 133 I |Burden of proof
B |Sec. 124 II. |Leading Questions
C. |Sec. 101 III. |Official Communication
D. |Sec. 141 IV. |Accomplice as witness

Choose the correct answer from the options given below:
(1) A-II, B-IV, C-III, D-1
(2) A-IL B-L. C-IV, D-III
(3) A-L B-IL C-IV. D-III
(4) A-IV, B-IIL C-I, D-II

it 1% 1Y Gl 11 DT T By

AT T Tt 11
A |¥RT133 I |GEd @R
B. |4RT124 1 |uE gara
C. |¥RT101 m. | 3ffiae Juyo
D. |emr 141 v, |[wieh & wud ggant
i f4u ¢ fadeti § 9 91 TR &1 90+ DIl

(1) A-II B-IV. C-III, D-I
(2) A-II B-1 C-IV, D-III
(3) A-L B-II, C-IV, D-III
(4) A-IV, B-1II, C-I. D-II
1[Option ID=17437]
2[Option ID=17438]

3[Option ID=17439]
4[Option ID=17440]

Sl. No.89
QBID:8441764

Dividends are as example of which head of sources of income under the Income Tax Act?
(1) Profits from Business and Profession

(2) Capital Gains

(3) Income from other sources

(4) Salary

TIHIE Sas HUFEA & agd 10 & &9 99 &1 U6 Jame 2
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(2) Yol @y

(3) 3 dEf § ema
(4) Faq

1[Option ID=17441]
2[Option ID=17442]

3[Option ID=17443]
4[Option ID=17444]

Sl. No.90
QBID:8441765

The power to impose taxes is found in:
(1) Art. 265

(2) Art. 245

(3) Art. 260

(4) Art. 256

FY T B Wied fhg & 918 ordl & ?
(1) 3F=5E 265

(2) g5 245

(3) =< 260

(4) =3 256

1[Option ID=17445]

2[Option ID=17446]

3[Option ID=17447]
4[Option ID=17448]

Sl. No.91
QBID:8441766

Which of these rights is granted in the International Covenant on Economic. Social and Cultural Rights. 19667
(1) Right to seck and receive asylum

(2) Right to liberty and security of person

(3) Right against torture

(4) Right to just and favourable work conditions

T G B T AR fifs, amfye o aRsfae sftert w i sfimmg |, 1066 & oo mn g

(1) =R AT R a5 @1 e

(2) fET F1 @ R G &1 AHER

(3) T & & sHfeR

(4) TTETT AR SHw B Ul BT AR

1[Option ID=17449]
2[Option ID=17450]
3[Option ID=17451]
4[Option ID=17452]

Sl. No.92
QBID:8441767

Setting aside of arbitral awards by a court is done under  of Arbitration and Coneiliation Act 1996
(1) Sec. 24

(2) Sec. 26

(3) Sec. 34

(4) Sec. 46

TR AR e AT, 1006 F . ¥ Ogd Ue UIU0Y SR HEwY Y912 &1 U fHar war &
(1) 9124

(2) 4mT 26

(3) umT 34

(4) YT 46

1[Option ID=17453]

2[Option ID=17454]

3[Option ID=17455]
4[Option ID=17456]

Sl. No.93
QBID:8441768




For an invention to be patentable it must fulfil which of the following conditions?

A. A patentable subject matter
B. Novelty

C. Non-obviousness

D. Not be a process

E. Have industrial application

Choose the correct answer from the options given below:

(1) A.B.C.D.E Ouly

(2) A.B,C.D Oualy

(3) A B, C.E Only

(4) A B, C Ounly

et onfepR & T O B & g 99 Fefafea & @ oF-8 5 off &3 el

A, U& Uce TAuuasg
B. @Al

C. qgdl
D. T% "ihal 98 &1
E. Siepfirs sguam g
= fou o faEad! # 9 98 9 &1 984 S
(1) $9@A.B.C.D.E
(2) FTTA.B.C.D
(3) #@A.B,C.E
(4) F@TA. B, C

1[Option ID=17457]
2[Option ID=17458]
3[Option ID=17459]
4[Option ID=17460]

Sl. No.94
QBID:8441769

Given below are two statements:
Statement I: An Arbitral Tribunal can have even number of arbitrators.
Statement IT: An arbitral award refers to the final award and does not include mterim awards.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT 1s true

4 & y= Ry M

HUF [ ; TF AR A0 § g ) e 99 5 9adl § |

B [[ ; UF AIgyH ddTe Siftow dare & dafifa ovar 3 9N sad ofafd dare mnfia =8 8 &
SIRIEd $YF & e H, A9 gy U feedt # 9 98 S &1 95 S
(1) FF] AR SHfva g

(2) =1 R I M oTT 2

3) AT e MrT U Il =g s

(4) TE] A e AETFUE I FOE

1[Option ID=17461]
2[Option ID=17462]
3[Option ID=17463]
4[Option ID=17464]

Sl. No.95
QBID:8441770

Which of the following conventions are associated with trademarks and Industrial Designs?

(1) Barne Convention




(2) Rome Convention
(3) Paris Convention
(4) Geneva Convention

e & 9 S sfieag Teas oR e feagd § 9eiiE &

(1) = sfir
(2) IW afimmg
(3) ufvw sfftrmg
(4) Sa ftrawg
1[Option ID=17469]
2[Option ID=17470]

3[Option ID=17471]
4[Option ID=17472]

Sl. No.96
QBID:8441771

Explanation 2 to Sec. 375 of the Indian penal code was read down mn:
(1) Common causes v. Union of India

(2) Independent thought v. Union of India

(3) National Commission for women v. Union of India

(4) NHRC v. Union of India

YR €5 wHigd #1 4RT 375 &1 WPleI0 (2) = ger 7 o

(1) FHF & T91 YNa 99

(2) gAfEY== Ui 591 YRE 99

(3) TFra At A §AW HRA S

(4) TATEHNE! S99 YRd T§9

1[Option ID=17473]
2[Option ID=17474]
3[Option ID=17475]
4[Option ID=17476]

Sl. No.97
QBID:8441772

The life of a copyright in a literary work is
(1) Life of author + 60 years

(2) 60 years

(3) 20 years

(4) Life of author + 20 years

T T B e =

(1) EF &1 wiad + 60 79

(2) 60

(3 20

(4) @EF &1 9T + 20 7

1[Option ID=17477]
2[Option ID=17478]
3[Option ID=17479]
4[Option ID=17480]

Sl. No.98
QBID:8441773

When one country provides most favoured nation status to another country, it agrees to:

(1) Charge the latter lower tariff than any other nation

(2) Charge the latter a rate no higher than any other country
(3) Export only the best quality products

(4) Export the highest volume of goods to that country.

W U 3% gH¢ SN & §aifie uHdial Ty &1 ool W #dl & i 98 59 [0 95Hd 21l &
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1[Option ID=17481]
2[Option ID=17482]
3[Option ID=17483]
4[Option ID=17484]

Sl. No.99
QBID:8441774

The prmciple of uberimae fidei refers to:

The obligation of the person taking the insurance to disclose all the facts that might impact the assessment of risk truthfully and

) completely.

The nature of insurance contracts where one party may receive significantly more than the other party depending on how the

2) .
circumstances evolve.

(3) The nature of insurance contracts where one party draws the entire contract on a “take it or leave it” basis.

(4) The transfer of insured’s right of action against a third party who caused the loss to the insurer.

Said fras &1 frgia defifa s &
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1[Option ID=17485]
2[Option ID=17486]
3[Option ID=17487]
4[Option ID=17488]

Sl. No.100
QBID:8441775

Which of the following is an uninsurable risk?
(1) Personal risk
(2) Property risk
(3) Speculative risk
(4) Liability risk
frofafes & & $= 9 oo Gifem 6 8
(1) =nfdaTa SifEd
(2) wufs SifEm
(3) wgIwITEH
(4) e wiEn
1[Option ID=17489]
2[Option ID=17490]

3[Option ID=17491]
4[Option ID=17492]




